REHE HFRZ17-1 P1
Frk29F6F8H

P RREIERFT - KESRS

REREEROSHLE
;FEEZQEGH8E4’-371103#5##\655.-?ﬁﬁiiﬂ‘o)ﬂiﬂﬂi’&ﬁb\ibtd)‘& BRELHLSELE

;iR
BRDREIE, KiB21~23°C, 154r26~35. BHEHBFEE7~8me/ITLT=,
BREI2~5mT, HEEEDHIL =7 X EM ISTFILB. ESHEBOTLIHURYYLE
MNEEZEEShELT-,
/

KREER (F1-2)
7KiR20.7~22.9°C, #4326.0~349TL =,
Kig[E2mBNSERB T02~16CLERLEL . EHIE5mBTLILREL. ERAL2MBRY
10mEMNSER TO.1~05E FLELT-,

BEERE(E3)
BEBEE67~84mg/ITLT=,
RIESAEREEBL T, BEREE LB TO1~09me/EALELT-,

TS59b0 (%&4-5)
BOHE(X1.5~45mTLT-,
BRBORR. REICEELAL=7 -SXEFHBE Tl cells/ml. TSFOLBRNARET
8cells/ml, REMERBORELLEZTLF YR LB RS Cleells/mEREhEL -,

BORERDREICEL OTFREMU-BE L, K< =-RYMRMLEE [SBAEERLT, i
REIEEFFEFKERBRIBETT BRI,

=0_- LA

?

' BRI4
5 12 R I
< RRBE S BRSNS MBEE
. S - ALZT -IFEM
BB~ Fcells/mI (REDALFE)
V0T 4= 9 L RYSYA( TR
#E ~1,000cells/mI (REFDALIE)
- TSIFOLRE:
f 100cells/mI (EE &L D EAL)
ROHE a?? TFLEHURYS LR
& 500(hTH3) ~cells/m (BEDFL)

H39




P2
TR29%6H8H

£1 kKB (C) ! E
P 1] 18] 58 =& (H29.5.29)

= Py pE -9 Bzl . . ar

HEhE | BRI | BoX | #H54 Pl b SEORY N 25 T AT
Om 228 22.9 226 22.3 22.8 228 0.0| :
2m 229 22.7 225 22.6 22.7 225 0.2
5m 225 22.3 224 22.5 224 22.1 0.3
10m 21.9 21.6 216 220 21.7 20.7 1.0

|__B-1m 21.1 20.7 21.5 21.8 g1.1 19.5 1.6
2 1] 12 3 2 (H29.5.29)

: ; - NN F- 10773 . o s ﬂ

HEhS | BRI | Bow | A5 ot v T S2CEY (SO znf L5 LU
Om 335 341 340 26.0 33.9 344 ; .
2m 34.3 344 34.2 340 343 344
5m 345 345 346 344 346 345
10m 347 34.7 348 34.7 34.7 348

B-1m 34.8 34.9 34.8 34.7 34.8 35.0
3 BEERE (mg/l
: B RE AT [2] 38 & (H29.5.29)

HEMS | BRI, | BOE | #H54 il RBTI g n e i}l:ﬂf Lizk: LU}
Om 1.5 74 7.4 84 7.4 8.0 A 06 79
2m 7.9 7.3 14 7.8 15 7.9 A 04 7.7
5m 74 7.0 7.1 7.5 71 8.0 A 09 7.2
10m 6.7 6.9 6.8 7.0 6.8 7.3 A 05 6.8

B-1m 7.0 7.2 6.9 6.8 7.0 7.1 A 0.1 6.2
X 1 BB AN ERIE
4 (m) _
BERA | BAT1 | BOH | 55y [FERRE gigg
| K=E 16.3 234 15.0 14.8 12.8
15 BH 4.2 3.5 4.5 2.5 1.5
; 3.8 3.2 3.4 4.0 2.2 |
®5 T529b2 (cells/ml)
a%a54=
HL=F- - FLEFH2 .
= Y LRG| r5FoLm| L EES
SHREM | o0 % R LR
Om 0 0 0 0 210
BRIA | 2m 0 0 0 0 440
5m 0 0 6 0 290
Om 0 0 2 0 500
EDE | 2m 0 0 2 0 2rg<
5m 0 0 8 1 110
. Om 0 0 0 0 250
155 2m 0 0 1 0 410
5m 1 0 1 0 180
= 3 Om 0 0 0 0 4,800
%E%%l& 2m 0 0 0 0 4,100
5m 0 0 0 0 800
Om 0 0 4 0 1,200
ik 1:1 2m 0 0 1 0 4,800
5m 0 0 1 0 1,800




